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1 Two rods of samefuetal of same area of cross-section are respectively of
. .

0.5 m and 0.8 m lengths. Assuming that the rate of heat conduction through
the two rods is same, calculate tile temperature differencebetween the ends
of the first rod if the temperature differencebetween the ends of the second
rod is 72°C.

(A) 1I5.5°C,'

(C) 45°C

(B) 18°C

(D) S7.SoC

, "C{Cf)' tr mg ant ~ ~ "CfilG Cffiifr err ~ ?tT (Yf~I~(OIi ~~l: 0.5 1ft.
- O"lll 0.8 1ft.t I t~ lfR .C6"{ ?tT c:};iT lJ& .q i3)1iI=IT~ ?tT ,~ ~ t,
~ ~ 16 ftriT ~ ~ dl4lwtt<cir "lfVAT' ~ ~ ~ ~ ~ ftriT
~ -aftq dlQlwtt{ 72°C t i
'(A) US.soC

(C) 45°C

(B) ISoC

(D) 57.8°C

2 The image of a point source of light is,made,by a convex lens on a screen
kept at 20 emfrom the lens. A concave lens of focal length 15 em is
now placed exactly at the middle of the convex .lens, and the screen. In
which direction and by what distance the screen has to be 'moved to get
the image again on the screen?

(A) 20 em away from the lenses

(B) 20 em towards the lenses

ttc>' 15 em away from the lenses

(0)1(;'15 em tow~d~ the'lenses

~ ~"'m~T.'C6TSlfM~~ ~ ~'&m 20·~ l\. ~"'m in: ~

,-m t I ~ ~ ant ~ ~ t ~ -aftq .q ~ 15 ~ ~-~'CffiifT

~ ~ W ~ ~ t~. !IIRt~qc~ ~ 1ft ~.t~ ~?fiT ~
:~',. ,'- -: -. ',' , !

3lTtiiR~~~~ ?

(A) H ~.-qt 20 ~

(B) A' c6t~ 20 ~

(C) A' ~-qt 15 ~

(D) A cCr'~ 15 ~



5

3 A convex lens' of focalJength 5,0 cm is. kept in C<:)n..ta(!twith a concave
lens of focal length 25 em, The power of the combinationis.
(A) - 11.5 IY' (B) + 6;0 D

(C) + 4.0 D (D) - 2.0 D

50 'Mr~ ~ q)l ~ ~ A .25 ~ ~ ~. {t\ qM ~ ~
~ ~ '.q ~ t I WWr ~ IftJRfit

(A) - 11.5 D

(C) + 4.0 D

(B) + 6.0 D

(D) - 2.0 D

4 Four lenses of focal lengths + 10 em, + 20 em, + lOOlcmand + 200 em
are available for making an astronomical telescope. The telescope, will

have largest magnification if'the focal length of the objective {/a} and of

eye-piece (Ie) are

(A) 10 =+200 em; Ie =+ 10em

(B) fo =+ 200'em~ Ie =+ 20 em

(C) 10 = + 100 em; Ie =+ 20 em

(D) 10=+20C11l~Ie =+1Oem

~ (§tn~~ ~~ff ~ ~ ~ + 10 ~, + 29 .M", ,+ JpO f~ o~
+ 200 'Mr~ {fro ~. W{ A ~ 'tt ~~# 'q)l ~,~tqdii

j - "_;;-. .' - :, - -:. ~ ;,:,/ ,; • ~- ••• ; :r

~,~~~~ c6t...~ ..{fro (.(o}'iI'fT.~Ii1('H, ctr,~ {ft(le)
J6lJ~1"11

(A)' 'io= .{200Wt~ ~ =+ lO~'

(13) 10=+200Wfr~ Ie =4-20Wfr .

(C) 10=+100'Mr~ ~ =+20'Mr

(D) 10 =+ 20Wfr~t,=+ 10Wfr
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5 If 10 and Ie respectively represent the focal length. of the objective and

the eye-piece of a microscope, then

(A) fo <Ie (B) fo > fe

. (C) 10 = Ie (0) fo =25 em, Ie >25em

~ ~ ~~~1T t ~~~~tTT ~ ctt :q;)qffi ~~~T:

10 otTT Ie t at

(A) 10 <t, (B) fo >fe

(C) fo =fe (0) fo == 25 Wfr, I,> 25 Wfr

6 Which of the following statements is NOT TRUE in case of hypermetropia

of human eye ?

(A) The distance between the eye lens and reti1,1ai~:rreduced ..

(B) The image of the object is formed behind the retina.

(C) . Concave lens is used to get rid of the defect.

" ,
(0) Convex. lens is used to get rid of the defect,

l:rrfq~ t 1:\-~ ~(hypermetropia) ~ ~CfCffi&l"\i.-q·-e- ~-m ~
-efr~~ ?

(A) ~. ~. o~ 1:fAt t··~ cCr .~ Cfil1 ~ ~ ~

(B) ~ -rm~RtIlt~;~t .~. m"f,T

(C) ~ ~ t .~ -e- ~ .'~ :s-m \$IT W6"ffi ~ I

(0) ~ ~ t ~ :« .~ ~. San \$IT w.6m t



(0) 13x 10-5 .

7 If the el~on.of:,Ute( hydrogen atom acqqires 20 eV of'.extraenergy,
it will

(A) move as a·free elecu-onwith 6.4../eVlanetic energy

(B) move as a 'free electron with. 20 eVkirtetic • energy

(C) move in its orbit with larger angular velocity

(0) go into the excited state of hydrogen atom

~ &I~~iit~~ $f ~~~I~ 20 eV ~fafiCfd ~. ~ Cti"{ ~ t
ffi ~.

8 The ratio. of the electrostatic to the gravitational force between two alpha
particles is nearly equal to·.·

(A) 3 x 1035 (B) 13 x 10-35

(A) 3 x 1035 (B) 13x 10-35

(C) 3 x 105

131l\lE»ANI_A]

(0) 13x 10-5

7 [Contd.••
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9 An electron is placed in an electric field of intensity 104 Newton per
.Coulomb. The electric force working on the electron is

(A) 0.625 x 1013 Newton (B) 0.625 x 10-15 Newton

(C) 1.6 x 1015 Newton (0) 1.6 x 10-15 Newton

~. ~J1~I'1 en) 104 ~ 1Afir ~ ~ ~ ~.1l ~ \jfffiT l
~~~I'1 11{ "WR croo ~ ~ l

,

(A) 0.625 x 1013.~ (B) 0.625 x 10-15 ~

(C) 1.6 x 1015 ~ (0) 1.6 x 10-15 ~

..

10 A small object carrying a charge -5 x 10-9 Coulomb experiences a
downward force of 20 x 10-9 Newton when placed at a certain point in
an electric field. The.electric field intensity at the point is

(A) .100 Newton I Coulomb upward

. (13) 100 Newton I Coulomb downward

(C) 4 Newton I Coulomb upward

(0) 4 Newton l.coulomb downward

~ ~ ~ If{ ~5 x 10-9 ~ ~~T t I ~ ~. M ~-~ 1l

~ 11{ 20 x 10-9,~ q)T ~ ~ q\T ~ ~ rrnrr l I

~-~c6t.~ l I

(A) 100 ~r~ ~ c6T ~

(B) 100,~I ~ ~ .c6t ...13lR

(C) 4 ~/~~ -tr ~



semi-cOnd~; ? i: •.

i1 /
(A) tL-. (B) Ilc..

i 1.. ..)
(C) l2... (0) i1.. ..<J .tL-.v
~ ·tmr 'am ~'1qIOij<> l; ~ ct:A-wRT· ~ '~ .~ C6T

G~ t?

t-:(A)
.. .. 'v

..

.•..

(It) tCoaJ4dlttltlte,

(C) 1 mft.l'l \bit

1 ~/~ """" \t
(A) l·~/*t

(C) 1 ~/~

Ijll\ttD~....A1 .

(lJ) 1 Volt/;ttteter

(0) I VoltICoulomb

(13) 1 ~/~

(0) lam/pIA

9
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13 The magnitude of the ma.gneticfield B ata distance r from an infinitely

long' straight conductor through which a' current I is floWIng, is given by'

, I
(A) 21t~o-

r

'12J,lo i:
(8) 41t,2

, J,l 21
(C) , --2._

41t r

, "J,lo r
(0) '4;.21

~ '3FRJ ~ t ~ ~,~ I ttm'S4cuf$6 IT ~ t, -« r ~ ~

¥I•• t6l~ ~ C6T41\¥flol m t

I
(A) 21tJ,lo-

r

(C) J,lo 21 ,
41t r (0)

J,lo~
41t 21

14 The ratio of magnetic induction (B) and magnetic intensity (H), B/H is

(A) J.1
~o

',(8) 41t
i '

{ .

41t
(C) J,lo

1
(0) -, J,l

(A) 'J.1

41t
(C) J,lo

1
(0) J,l

t; 10
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(A) R
C R

(B)" C

1
(C) RC (D) RC

"Ct$M RC' -qftqef 'cir" '"(Atl ~<{diq;/ "iraT t
C R

(A) . R (B) C

1
(C) RC , (D) RC

16 In nuclear reaction

~Th~~~Pa+X

particle ..X is
(A) Net,Jtron
(C) Positron.
'1lfticfil4 ",~ft&41

(8) Proton
(D) Negative beta particle

~4Th~ ;~4Pa+X

~ 1PT.\X .~.

(A) .~

(C) q~~Ii1 o

(B) ~
(D) :(QI"jt'1Cfj itGl C6UT

17 The activity of a radioactive material which has .decay constant A and
initial nUJJJber of .atoms No is

. -f

(B). N eAt
. 0

~ '~~q ~~~i fll{{tti$ ~~ qfi ~ No ~'U .~ f.:tlldiC6
A , l ~ '" (4f1;q(jl ,:' _. " u· '

(A) ')..N~ (B) N eAt
I 0

(C)
No
A

eAt
(0) N

o
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18 .House-hold electrical appliances are connected to the mains line in

(A). senes
, (B) parallel

(C) high wattage appliances in parallel and low wattage appliances. .
In senes

(D) high wattage appliances in series and low wattage appliances'
in parallel

~.~ \3QCf){OI ~, ~ -« ~ A)l{ it ~ ''iifffi t ?
(A) .~ .R)lf' it
(B) 6ttl"ti{ ~",~,

(C) ~~.'~\3q(f){Olijql"t1{.~ ~~~~ 134Cf)<U{~' --'. ::':':'.
" '

~~ ... " .t:',
. . '. ', . ".'! •.• > ~'

(0) '. ~ ~'i3qCf){Ut ~Sffrf ~ ~ ~~~qr.ti{bleqI<d{ ,.,:,', '...:",:
·~.if .. .i=:>: . .•.• ..... -: .••... :.<..:.:>:.

.-,.". "

19 The reverse-saturation ~urrent in a semi-conductor diode. depends
strongly on

(A) P - type impurity concentration

(B) n - type impurity concentration

(C) the thickness of the depletion layer . " '" '.'.. ' . ' .... ,- .. , ... '."
(D) the temperatute.oftbe diode ' . '," : ., . < .. " .'
~~·".,~'~,' ..'4~~,~·;mu ~ ~ ~~·l ..· " ,~'/.:<:«::"'" <.'.

. '.. ~- .'.-." .

(C)

(D)

p~m cCr \ll~l ~ ~ lff

n-~ ~f:.~~ '~·.·msrer 1ft
.' < "'

~~ 1ffifiGf.~. lff

~ t orq. 'lff,

(A)

(B)

20 The resistance of a piece of a rod of some material decreases sharply on
increasing its temperature, The material of the piece is

, ,
(A) electrolyte (B) conductor
(C) semi-conductor' (D)insplator~' !:) ~ ... :

'M~ 'cCr~ ;ngit '~r'fff saa-~, 'l.'§gt .~. 'Cf)f'ffi'q' ~ lff
~ -e- "EfGffi', t I ~ cfiT 'tfCUet t
(A) ~ ~ (B) ~
(C) \3l~-~

13IMEDANI_A]
(D)
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"{ J' ~ 0", • '.,~;.'t: {~"" ....."
tit ~: ••••. ~

. ':::.' /:;! / .. ::..21'~ AWh~i of.~ritent of ih~rtia O,40kg-m2 is making 21'00 rotations per
.: . . .' <, minute;'The-irl1&t is brought to a complete stop in 2.; seconds, T~ angular

.' ··.a~eration.,ofthe wheel is
., .• ' r.

". " ,.,' '. ~

, .. .'
•.'.:(r\)..3~·.ra~i,anslsecond4.<{B)1.~Oradians isecond2

'. <':' (C)':: 56:radi~srsecOild2' '.• ;,(I), .i~Q:.:radlans/ Jie.~~~dr·": . . .' '. " .
.. ~.":. .': .. , ~ : ~ .. ' ~>,. '.' .'···i::·,.: 'k" .'.

". ' .. 0;40:.~~~. ~-~I'1.V" ~.~. 'H~",.·.W;'·W .Z.lQO.:~ .~~~:.~':: ..,
.'.' .~:~:~: li:.~.-R= itcn ·~,·~t:.l,~.· ~:~qt "

.< ". '

. "-~

:-, .

(A) 35 ~t~2
(C) .55 ~'/~2

. (B) 1l0··~t~2

(D) 220 ~/~2

22 A ball having kinetic energy E is projected at an angle' of 45° with
horizontal. Its kinetic energy at the bighest point ·of its path during the
flight is

(A) E' (B) E/Ji
(C) E/2 (D) Zero

~ lk ~ :Jt'f ~-~ Et, ..~ ~ 450 tIT. '.~ ~ t I

lk 'tr 1m"{ .~ trwr ~d¥i ~:qt~-~ .t
, (A).E ;

(C) E/2

(B).>E/.Ji.

'(0)' 1~~ ,

23 A cricket ball is thrown with the 'speed of 30m]s. If s= 10m/s2 ,

the maximum range of the. ball on the horizontal surface is .

,) '(A)L 90 1m' ·

(C) 180m
. . ~.
i ; ;

j; ,
(D) 22.5 m

. 30 ~~ ~ ~,~ .ftrig. ifft' ~>.~ ~ '\lffifii: t

i!~:;gF ~p~.t'fl:.2 ;.j-,~csn.~,,:. ~(6~ ,.~·~'C6l"FC31f\l!!6d¥;f,",,~ .,"iPTT

(A) 90~.

(C) 180~.

13~1)~_A]
. ;

(B) 45~.

(D) 22.5~.

13
I
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24 The position x qf a body depends on the timet according to the equation :

x=at+bt/', Here xis in metre..and t in second. The units ofa and b
are respectively

(8)
,

(A)

(C) (D)

~ f40a qft.~ X, ~ t lft (14)*(01 x=at+bt2· ~ • ~ Cfffitt
t I ~ x~ o-en t ~ -q t I a (f!tT b t' .lffjff8 t It)ir~T:

(A) ~.-l-ij-.-l, lfr.-2-ij-.-2· (8) . ~.-1-e-., ~.-1'6.-2
(C) lfr.-ij-.,lfr.~.-2 (D) lfr.-e-.-l ,~.-«.-2
.,

25· Dimensionalformula for surface tension is

(A) [ML2 r?]

(C) [ML r-2]
~-~.q)J ~ ~ t
(A) [MP r2]
(C) [ML r-2]

(8) [ML~~r2]
(D) [ML012]

(8)' [ML-112]

(D) [Mho r-2 ]

26 Equation of motion of a particle is given by a ~-bx, where. ais the
acceleration, x is the displacement from the mean position and b any
~~stanh ,The.time peried of the. particle is j ;!

(A) 2~' s
21t

(8) -
b·

21t
(C)· 7t

J

. !~l! ..,'f1r;;"fA ~ !

~~;~'~ilffl;:C6l":(1lhij{Uf 'a=:"'b'x l:rW'\a~, J;~;~'-lT
b ~r;rqaiCf) ~ I cr;uT 'CbT ~. CJiM l';:' 1 "

(A) 2Ji 21t
(8) b

21t
(C) Jb

13~DANI'A]

(D) 'iic-Jh'
14"

! I
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27 The forces of action and,. of reaction do not cancel each other because
(A) they act'~eI to~h other ....
(B) they aclopposite to' each other at the same point.
(C) they act opposite to each other' at different points
(0) they actin the, same directiC)nat different points
ftt;tn. Cfqrgf6Pr641 Q ~ ·w C6T ,~,;:rfr ~ '~'
,(A) qw. ~ ~.t ei1t-tt( m ,Cfi\6-. ,.'.
(B) ~~. ~ cir ~qfld ~m ~, ~ fr ~' lI1: 1Pffi •
(C) ~ ~ ¢cir ~qt)d~ti ~ .•~ ~~ 'ql ~' Ciffi •

(0) '~~ ~~ lP: ~. fr ,fa:ltlT· ~ .~' ~ •

28 ' The value of the acceleration due to gravity at a depth h below the surface
of earth is half of its value, at the surface. of earth. IfR~ is' the radius
of .earth, then '

(A) h=2~ (B) , ~=~

(C) h
'__Re h ~

(D) =-2 ·4
l[~ qft .~",.~. h "'{fI" ~, l(s~tf ~ CfiTlfFf, ~ 'q'{ 1o(ifltf ~
t lfA lfif ~ t t 1lf( l[uft' it ~. Re t 'aT
(A) h=2~ (Bl' h=~
(C) h=~ (D) h=!i

; \" }i·f·" ' '" \; \, ,-'i 4

29 If the radius of earth shrinks' by' 'l00A, ,"its 'lll8SS remaining the same,
the acceleration du~ to gravity on; the sUrface of earth, would
(A) increase
(B) decrease
,(C) remain unchanged
(D) depend on the distat\U frorri'ihe sun

, '. .

,~ ~Hfit,,~ J~4t::I~ ,~, .~r'~CfiT$(~fll~.C1J fl:u,m l[~'"ffiif' lR!l{)f4\q (lrotT. .

(A) "Q. ~

(B) ~

(C) ~ ~

(D) ~ ~ ttt,' 1R ~.\~ ; ,
~- ... -.~~, ,. ':



•

30 The gravitational potential ata point on the surface of "earth is VG, the

intensity of gravitational field is 1 and' the radius of -earth is Re, then

(A)
'~

Va=--1
(8) v'a =-1 R, e

I
(C) Va ="R

e
(0)

ll~ c6\' ~ If\ ~ WA If\ !!(i~~ ~ Va 'fffU !!()c:cft~~ '-tr ~
I~ 'l~c€r ~ s; if at,

(A') s,Va=--I (8) v'a =-1 R.e

I
(C) Va =--

Re (0)

31 A body executing simple harmonic motion 'has an amplitude of 0,01- m

and ·frequency of 50-Hertz. The ratio of the maximum acceleration and

maximum velocity of the body is

'"
(A) 2Sx (8) SOx

(C) 100 x (0) 20Qxr.

~.~ ~ Tffff- ~-'fqq' C6T~_O"Ol1ft. 'fffU'. 50 $ ~I

~ ~ ~,_'~ 'fffU ~ ~ C6T~ l1trr.
-. '! '-

(A) 2Sx (8) SOx

(C) 100 x

{3~D~~A]

(0) 200 x

16' 'ICOtitd ...



32 The cross-.,al strain.,prpdu0e4 in a~c rod of Young!$ modulus
. Y when it isstretehed by 0 .The potentialeaergy contained per unit volume

of the rod is

(A)
1 .. 2

(8)
'l y2 .-Yo - 02 2

1 Y 1 02
(C)

02 (0) --2 2 Y

~Y"lf1T g(ql~dl ~~mgc6l' .:~.C&T~.-«~~~.~-
~ 0 t I ~ ~ lIfir .~ ~ ~ ..~ .~ fttIRt\Jf-~ t

1 . 2 1 y2(A) --J'"o (8) - 0
2 2

1 Y 1 02(C)
02 .(0) --2 2 Y

33 . Pick the Qln"ect 'statement from 'the foRowing :

(A) AngQlar acceleration = Torque x Moment of:rn.ia

«;) An_v ~n =- Torque x Momentum

(DI. AnJPJar a~.~M_elltof: filertia x ~ Ve~ity

~.~t '•. 1IiR8r' lftt. :.
(A) ~·~=.~.x~\~

(B) _wm •••

. (C) ~ (q(UT = 1R'r ~ x m
(I)) ~;~.; ~ ~; ~., x ~. -cA.
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34 ,The total angular momentum of a body or a group of bodies remains
unchanged if

(A) external momentum is absent

(B) external force is absent

(C) external moment of inertia is absent

(D) external torque is absent

~ ~ I3ftfCfr ~-'-~ C5T~ ~. m \1Iqf{qRfa -mrr t, ~

(A) ~m~l1

(B) .~ 1R'T.~ ~

(C) ~ ~-~ \3tlq~d ~

(D) tmfr 1R'T~ ~ ~

35 Energy required to break a single drop of radius R of a liquid of surface
tension T, into n drops each of .radius r is (P is atmospheric pressure)

. .

. #

~ ~ ..~' ~-o;nq T ~ ~ R ~ ~ ~ .~~ n t<U ~ .q
~. ctr ~. r~, If ~ .q ~m Cffiift,~,M (pq'$I.0$~"lq

emf ~)

.(41tr2n-41t R. 2)
"(B) .

T

(1')

"
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36 The tempe.t~re of a gas is ~•.measure ,of the

(A) mean linear momentum of its .molecules

. (B) root - mean - square, velocity

(C) meen .kinetic energy .of its. molecules

(D) mean partial pressure of molecules

~ -tm q;r Cf1qltJq" i -tm ~

(A) ~~ ~ .~ •.~ m.C6f
(B) Cf1f mtlf ~ ~. ctrr .•

(C) ~~~ cCr ~~~~ C6f

(D) ~~ ~ ~ ~TCf) GR C6f

37 Work done' in an adiabatic.process is

(A) nR(y-I)(Tr-T2)·

n.R (T. ;...1; )
(B) (y-l) I, 2

nR '
(D) 2.303(y-l) (P2~lJ)

~~~~lflJTqmf~i

tA) l1R(y-l)(Tt -T2)
. I



(C) ~~

13~rlANI_~] .

(D) ,~

20 ," ..
f' '[~ontd•••

38 In which of the following expansions, the work done is zero ?

(A) 'Free expansion (B) Adiabatic expansion

(C) Isothermal expansion (D) . Constant pressure expansion

(A) Wffl-~ (B) ~-"SRm

(C) ('Pidleft ~

39 While cooking food in a pressure-cooker, water inside' the pressure-cooker
boils at a temperature T, then

(A)' T = 100°C (B) T > 100°C

(D) , T = 273 K

~~f{-~ -q ~ ~ tf'Rf ~~f{-~ taR\, -qr;ft T 0Jq" tR ~

taT
"

(B) T > !OO°C

(C) T < 100°C (D) T:::: 273 K

40 Which of the following effects proves the wave nature of light?

(A) Photoelectric effect (B) Compton effect

(C) Pair production (D) Polarization

(A) WID~~ wqrq (B) CblAfG'1 wqrq
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41 Select the element with hiahest electron affinity :

(A) F (B). CI

(C) Br (D) I

(A) F (B) . CI

(C) Br (D) . I

42 Oxidation state of oxygen is positive in the following compound :

(A) HOCI (B) NaOH

(A) HOCl (B) NaOH

43 The most electronegative alkaline earth metal is .:

(A) Be (B) Mg

(C) Ca (D) Sf

(A) B~ (B)Mg

(C) Ca

l~ANI_A]

(D) Sf



'11,~"Il1'1q;l at'fq:EII~g ~ -m cmfr ~ (laughing gas) ~ ~ ~ ~

~ t:

-,
,,.. ;

44 Diagonal relationship is shown by elements :

(A) Be and Mg (B) Li andMg

(C) Li and Na (D) Be and Ba

(A) Beq Mg (B) Liq'Mg

(C) Li q Na (D) Be q Ba

45 The oxide of nitrogen is known as 'laughing gas':

(A) N02.

(C) N20

(B) N205

(0) NO ...

(D) NO'

46 Maximum covalency of': nittogen'c is

(A) Two (B) Three

(C) Four (D) Five

(A) ~ (B) tA-

(C) .~

13~J)h.NI_A)

(D) ~.



47 Which of the following ion is diamagnetic ?

(A) Fe2+ (B) Cu2+

(C) Zn2+ (D) Ti3+

(A) .Fe2+ . (B) Cu2+

(C) Zn2+

48 Highest spin magnetic moment is shown by :

(A) V3+ , (B) C03+

(C) Fe3+ l (D) Cr3+

(A) V3+ (B) C03+

(C), Fe3+ (D) Cr3+

49 Baeyer's reagent used for detection of unsaturation in organic compounds
is prepared by :

(D) HgC12

~ ~fttCf)4Cf) ~ Cf)'.P,Cf) ~ -q ~('it'dd' ·t -qfr~ -q ~'mot t
P,+"1~f@d -« ~ ..\1tffiT i ", if

..
(C) KMno4,

13/Mi:DANLA] 26

(D) HgC12
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50 Which of the .following compounds will IlQt. give the -test-for chloride
ions? . . .

•
(B) {cr(NH3)s ClJC12

51 Effective atomic number (EAN) of Cr in· [Cr, (CO)6rwill be :

(A) 5

(C) 24

(B) 18

(D), 36

(A) 5

(C) 24

(B) 18

(D) 36

52 Sulphide of following metal. is not precipitated in IV grouP.(9f ,q~it~~ve
analysis 'of basic ra~icals : £ ..' ..

'(A) Zn (6) Co
.. \ !' ;

(C) Ni (Dr Mg - ~;t ,

~ ~ t- !1UII(qq) -c:rtt~ 1{IV 'W{J.1{Ptt:t~,,;rq; tfW:';~ ~
ij(''hl~$<fiT dlqftqui ~ 1ffir t ?

(A) Zn

(C)Ni

13IMEDANI_A]

(B) Co

(0) Mg
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53 Which of the following alkene does not' exhibit geometrical .isomerism ?

(A) 3-hexene (B)' 2-hexene

(C) 2~pentene (D) l-pentene

(A) 3-~ (B) 2~~'

(C) 2-~ (D) l-~

54 Which of the following compounds does not exhibit addition reaction ?

(A) Ethene (B) Ethyne

(C) Benzene (D) , None of these

(A) ~~

(C) ~

55 Select the disaccharide among the following :

(A) Glucose (B) Fructose

(C) Lactose (D) Amylose

(A) ~

(C) ~

13/~I:ED,ANI _AJ
,.~ -, "
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56 The.most ~e hal~e towards nucleophilic substitution reaction is:

(A) CH3-F (B) CH3-Br

.(C)CH3-CI (0) CH3-1

.:'~lftcq)&r"sr~(fllq"1 $"Slfu N .~·~fiiqllt~ '~)~'1 ~.

(A) CH3-F (B) CHrBr

(C) CHrCI (0) , CH3:""I,

57 .Which one of the following is an addition polymer ?

(A) Nylon-6,6 (B) "Ierylene

(C) Polystyrene (0) Bakelite

Pt"'1~~d ~ -6 CffA-m q1¥I1~ ~ \' ?

(A) '11~(i1T'1-6,6 (B) !f\\fl)'1

58 Benzylphenyl ether reacts with HBr to give :

(A) . Benzylalcohol and bromobenzene

. (B) Benzylbromide and bromobenzene

{C) Benzylbromide and phenol.

(0) Benzylaleohol and phenol ») )

~~(i1q,~(i1 f~ HBr -6 \3if\tRb~:u.Cfi'"{ ~ ~ .toT \' :

(A) ~"f~(i1~{iq))~T(i1'if Mif)~\~'1

. (B) ~·fGt(i1.rP'll~ecr ill'iI~''Jf\"1

(C) ~~(i191)+lI~. cr fq;;ffiir.

(0) ~'~(i1~\\\fi)$T(iIiq~
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59 A ~ -hydroxy carbonyl compound is obtained by the reaction pf following
compound with dil. NaOH is :

(A) HCHO

(C) C6HsCHO
(B) CH3CHO

(D) CC13CHO.

P1'"1~fuAdc6t Ol'NaOH ~ "ijl!f \1I~ft6(f1 -« ~ ~ l'1~lfiftft' CfilacTP1(if'~
mtO ~ t, ~ t :'
(A) HCHO . (B) . CH3CHO

60 Chloropicrin is used as :

(A) Antibiotic

(C) Insecticide

4«1 {jfqs6'l'1 (ffi ~ ~ t
(A) ~~rltlC6

(C) ~~fr

(B) Antiseptic

(D) Anaesthetic

~) ~

(D) f.f~

61 Which of the following compounds upon hydrolysis gives carboxylic acid
containing same number of carbon atoms ?

'. (A) Acetic anhydride (B) Alkyl cyanide

(C) Alkyl alkanoate (0) Alkyl Isocyanide

f.:i'"1Rwif@d~ -« ~-m cfrftrcn \jfflf~ "q\ ~ ~ ~\1Il CfRiTf

t6li!ITfcRt~Cf) ~ ~ t ?

(A)' ~(ft~Cf) ~'1l'I~~I~g(B) ~altl'1l$g

(C) ~'~~;:ft~l' (D) ~ all~Et)el~",,1~6

62 Pyrolysis of propane.' gives :

(A) Propene

(C) Methane

mo:r ~ arq~ -« mtO~" t
(A),~

(C) -q~

(8) Ethene

(D) All the three

(il) ~

(D) ;gQOtffl ~
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63 Potassium is represented by ~K, the number of protons, neutrons and

electrons are respectively

(A) 19, 20, 20

.(e) 19, 19, 21

(ll) 19, 21, 19

(0) 21, 19, 19

~ q;) 1~K.mu ~Wu 11(lT ~, ~ IDiA, ~ q' ~~~;ff "if ~

F{~T~ :

(A) 19, 20, 20 . (8) 19, 21, 19

(e) 19, 19, 21 (0) 21, 19, 19

64 Electronic configuration 1s2, .2s2, 2p3 represents the r6110Wingelement

(A) B (B) e
(e) N .\~) 0

(A). B (B) e

.(0) 0(e) N

p,
65 The molecule which does .not form hydr~geri bond is

(A) HF

(e) uci

(B) Nli3.

(0) HO2 •
,,11

ctl" ~ iffl ~1~~1\if'1~ ~ ~t!: ~

i 0-

(A) HF

(e) . Hel'

jlJll\fEDANI_A]

\"1_'1"

. (B) NH3

(0) H20



. .
66 Select the [pair with same type of hybridization :

(C) CO2, S02 (D) BF3, S02

~ ~ -erM 'gnt q)J. "'CftA ~ :

(A) BF3, NH3

(C) . CO2, S02

(8). H20; S02

(D) BF3, S02

67 Select the correct statement :

(A) H2 and H; both are diamagnetic

(8) .C2 is paramagnetic

(C) B2 is. paramagnetic

(0) 02 is diamagnetic

trfr. Cf)~. if» "'CftA ~

(A) . H2q ~ GFil' Slra~qec61q ~

(B~ C2.~~~· t
(C) B2 ",~c6l4 t
(t}J 02 Rf6!fafc6l4 i

61 AssaJlling *he complete ionization of following"aqueous salts solutions
wl\ich will i'have minimum .elevation in boiling .point :

(A) 0.05 M NaCI (B) 0.1 M KCl

(C) 0,1 M~4 (D) 1 M AlP04

~~"~ij~'t.~ ~ ~ ~(i1~$~ifCltllilflti~ ~ 11m
~ iM"""'iW.,(ctt ~~) ?

(A) 0.05 MNaCl

'(C)' 0.1 M MgS04

'13'_b~NIj\).

(8) 0.1 M,KCl

. (0) 1M AJiP04

fGontd ...



(A)
1

K =-.-
P. K'. c

69 Limiting value' of ;,{ for coordination number ..6 {oetahedral) is :

(A) 0.155 - 0.225 (B) 0.225 - 0.414
(C) 0.414 - 0.732 (0) > 0.732

\lq•••~ m;.n. 6 (",-","",(if41~) i\; f.!ll X 'liT ~ .~ ·lPn

(A) 0.155-0.225 (B) 0.225 - 0.414

(C) 0.414 -0.732 (0) > 0.732

70 ex -particle is represented by:

(A) 2H (B) 4HeI 2

(C) °e (0) 0
I _Ie

. (A) ;H

(C) ~e

(B) ~He

(0)

. 71 Correct relation between ~ and K~ for. the following gaseous equilibrium:

r' .. \

~ K=K ~ K=~.pcp. c

~ ~ "61l<f ~ ~ij,~q (Kc ~. -e1r ~ t

(C) K =KP c

c.. k(B) n::fr:::::,,::J r'Ti.):'-lSilt
p -.jK;

(0) . K =K2
P c

•••• r .l~ -rr"'"'iI<) ••• ·cU. fJ.(A) K =.~ 1·',,,.'
P Kc
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72 The solubility' of PbI2 is related to it~ solubility product by the
following relation .:

(A) ~p == S2 (B) ~p= S3

(C) ~ =4S2 (D) Kgp =4S3

(A) ~ = S2

(C) ~ = 4S2

(B) I(sp = S3'

(D) ~p = 4S3

73 Which of the following compounds does not undergo hydrolysis when
dissolved in water?

(A) CH3COONa

(C) CH3COONH4

(B) NH4CI

(0) NaCl

Pt"",~f&d -q -« ~ m ~ ~ 'q ~ ~ 'If{ ~. atq~[l~ ~.
~ \"?

(A) CH3COONa

(C) CH3COONH4, (D) NaCI

74 Which of following is a Lewis base ?

(B) S03

(D) CO

(C) CO2

131MEDANl_A]

(D) CO
,i 'il ; i'



75 Which of ~ foll9wing ..will··have .highest entrepy at· room temperature ?

(A) Iron (Fe)" (B) NaCI

(C) H2O (0) CO2

(A) \il11r{iI' (Fe) (B) HaCI

76 The Arrhenius equation is :

(A) k= AeEa IRT

A · ....B JRT
(C) ~=e a

k
. (0) k=Ae-Ea/RT

(A) k =AeEa IRT .

•

; . ~ '1,.; », \ ,_;- ~ ~ 1-

77 Compound having highest oxidation state of, nitrogen :

(A) NH3

(C) HN03
,;,"~.

(A) NH3

(C) }{NO)

13~D4Nl_A]

. ~. \!

(B) NH;Z~2'

35
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78 Select. the incorrect statement for colloids :

(A) Particle slze lies between 1 nm to 103 nm

(B) .Particles scatter light

(C) It is homogeneous

(D) Particles are invisible under simple. microscope·

: ,., '.,
.'

''I _.

c61(i1T~& ~ ~ it Tf(fffi q;~ q;y ~ ~ :

(A) .q;uiT C6T ~. 1 run·~ 103 run ~ lf~ ~ i

(B) q;uy W6T~T q;y lIIc6loi'1 m ~ ..
(C) ~ ~ i

(D) q;uiT q;) ~ ~~~lT ~ o:rtl ~urr ~ i

79 The ores that are concentrated by Froth Floatation process are :

(A) Oxides

(C) Carbonates

(B) Sulphides

(D) Phosphates

~ ~ lWT ~ ~ (iIR ~ ~) IDU "ijR{Uf fc6m ijffffi i,
~ ~ :

(D) ~

. 80 During Hall's process in electrolysis of fused alumina, Al203 IS
converted into : ... .

(A) AlCl3

(C) Al(OH)3 (D) None of these

m .~ xm l"lfffif ~~ftt'11 ~ ~ ~ it Al203 PtHRttfula it
qf{qRia ~ i' ..

. .

(A) AlC13

(C) Al(OH)3

13MEDANI_A]
·t < •. '.

(B) AlF~

(D) 13q()Cffi it ~ q;)f o:rtl

36
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81 The sides 'of'atriangle are 'iRthe ratio; 3:5:7 and its perimeter is
30 em, The length of the greatest side of triangle in centimetres is,
(A) 6· centimetre (B) 10 centimetre

(C) 14centimetre (0) 16 centimetre

. ~ ~ ~ ~\31T em ~ ~ 3:5:7 ~ ~ l:fftftl ~ 30e·~4)c:{ I

~ ~ ~ ~ ~ ~ c6T e·~~c:{ if ~ ~ oPft ?
. f. ,

82 'Jawahar Tunnel' is located in which state ?

(A) Himachal Pradesh (B) Uttarakhand

(C) Goa'l (0) Jammu and Kashmir

(A) ft'll~(i\R~ (B) i3'ij Ul9 Us

(0) -riTen (0) ~'q;~lfR

83' Gandhiji st~ed Satyagraha in 1919 in order to protest against the

(A) Rowlat Act (B) Salt law

(C) Act of:J909 • (0)' Jallianwala Bagh Massacre

(A) -oo..~:
(C) . 1909 (fiT ~.

40 [Contd ..•



(A) 1492 (3) 1498
(e) 1398 OD) 1542
~ tr 1TfqT. ~ WI. ~ .'Tffif .~ ~ ?

(A) 1492· (B) 1498
(~) 1398 OD) 1542

,

. 84 When did Vasco De Gama ca.moto I_ 'J .

85 The .~cient .name of, the city of Patna is :

(A) Patliputra (3) Kanauj

(e) .Kausambi OD) Kapilavastu

-qc:;rr ~m(6l .n Ofblq; o:mJ ~ t ?

(A) qlt~~ (8) ~'

(e) q,il11~· OD) q;fq\ijcng

86 The 'RedFort of DeIhi was built by

(A) Akbar (B) Shah Jahan

(e) Jahangir OD) Babur

(AY ~

(e) .1l1~rt\)~

(BY ~~
(P) .~

,.t,,:,·,,\

87 Which soil is suitable for growing cotton ?

(A) Sandy, soil . "1 (B) Clayey soil

(e) Black soil OD) Alluvial soil

q)tfffi (~) m·~ ~ .c6A '(ft...~ .. ~~.~ ..•~ar·tr;?;;
(A) ~~ ~ {B) ~.~

(e) - fi.T¢. (0) ~.~

41



(A) Rupee

(C) . Peso

(B) . Taka

.88 Which is the currency of BansIadesh ?

(0) Dollar.

(A).Qq'qJ (B) UfiT

(C) .~. (0) ~

89 Which city is serving as the' headquarter of Wes(Central Railway Zone
of Indian Railways ?

(A) Jabalpur (8) Sagar'

(C) Bhopal (0) Indore

(A) .~

(C) ~

. It .•

(B) ID"l\

(C) ~. (0) ~

'90 Where is Raja Bhoj International Airport situated ?

(A) Indore (B) . Bhopal
--; .~ L

··(C) Ujjain (0) Rewa
,'.>

".

(B) ~

(0) ten
42
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91 Where is Rani. Durgawati University located.?

(A) Bhopal (B) Sagar

(C) .Ujjain (D) JI1b~pur

(A) '1ltmr (B) wrt

(C) ~ (D) \J11C\il9I <

"

91 How l1UUly' districts does Madhya Pradesh .state have? !;

(A) 48 districts (B) 49 districts
'.

(C). 50. districts (D) S.1 districts

(A) 48 ~ (B) 49 ~.

(C) 50~ (D) 51 ~
i'

93 Where' is "Roop siriglt Stadium" situated ?

(A) Indore (B)' Bhopal

(C) Gwalior (0) Ujjain
, ;.

·.(A) ~
. t

(B) ~.

(D) ~(C) tcufM •• ~
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94 The highest gallantry award in India is I
(it) Ashok Chakra

(C) Mahavir Chakra

(,(qlt1'"1 ~ 9I<(Cf)I{'~-m ~ ?

(A) aT~ ~

(e) '1$Ic¥l < ~

(B)Paramvir Chakra

(0) Param Vishista Chakra

(B) q (qtfl (. 'tijfi. .

(0) "Q\lT ~~ ~

95 Oscar award is related to :

(A) Literature (B) Films

(e) Science (0) Music

"~~" fc6ri ~ t ?

(A) ~ (B) ~

(C) ~ (0) ~

1(;~Dtd•..

97 The headquarters of the United Nations Union is located at :

(A) Geneva

(e) Rome

(B) New York

(0) Washington

(A) ~

(e) ~

13~DANI_AI

(B) ~

(0) m~.



(c)q;r~~fhll WT

13.VANI ....A)

J

98 Who .is the ;"first ITldifii "'recipiet:tt""'of'Nobel' Prize' intitera.ture ?

if.
(A) Mother Teresa (B) Rabindranath Tagore

(C) Sarojini Naidu (D) C. V Raman

(A) ~ tm

(D) tfr. cfi. m

99 Which acid is produced when milk gets sour ? '

(A) Tartaric acid . (B) Butyric acid

(C) Lactic acid (D) Ate!ic acid

100 Which of these is riot a mosquito borne disease ?

(A) Dengue fever (B) .Malaria

(C) Filariasis (0) Goitre

(A) ~!mt
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(Please use 'Black ball-point Pen) (~ Black ball-point q.,ifjf m 'ifif)

INSTRUCTIONS REGARDING METHOD
.OF ANSWERING QUESTIONS

,,~t \3ffi: ~ '~
f-tlff

••• USE BUCK uu. POINTPEN OIft.y) ~ <: USE BUCK uu. POINT,PENONLY ') ~
I

.J
1 Method of Marking Answers r " l' '\ffR ~ ~ ~ :

To answer a question, please darken '3"ff{ ~ t ~ ~.~.imt. ~ ~fTl
one bubble out of the given four, in 1{ W~ ~~t ~ ~'~ '''tfIT
the OMR Answer Sheet against that ~ -q ~ tcm ~ ~ C6t "<{UCf>T{iJT
question. ~ I

2, Valuation Procedure : 2 Wi¥"1 m :
There are fouldalternativ~ answers to a ~ ~~o:rt ~~~ ~ t. ~.
question, only-one of them is correct. ~ ~ ~ ~ t I ~~~C6T 00 ~
One mark will be, awarded for each ~ m~'q¥ ~ ~Nf "irrr I ~
correct answer, ifmore than one bubble
are darkened for 'a question, it will be ~ -« ~ ~ ~ ~ ~ t aT
presumed that the candidate does not ~ +fT"fT ~ fc5wmeffC6t ~~o:rC6T
know the correct answer hence no mark ~ ~ ~, 1ffii'llT i ail\., ~ C6tf
shall be awarded. ofq; ~ ~ ~Tr I .'

'\ffR ti\' '~ ,CfWIT ~ '~ :

~'~ ~'f.mom ,t,~' U
,~'~ -a' "Jt 1p). ~ t f.r~lRC6t
~ "«'f<f ~' "irrr I \mf: ~ C6T~ m t ~~ ~~o:r,~ C6T~'
~QI~.i6 ~l.l'~:~"~~ ~ ~ 16l ,~ :

(i) ~ ','tfil iftR *tG ~ t m
~CRwfc6~~fTlt
~'" ~"lIT'"«'it'~ ~ - ";fT+T,
'-m ~, ~«R~, ~~-~ C6T
~~ ~. f.f~ff\d~ ~ irt1;-
tF6 1l"t ~. t I

(~"nTlflT' ~ -.:rftlffl~ C6t 'g"~.,
~ ~. tJJ~,« \iffifctr ~
tl

.~flm'.'\ffl!rirr:tmnt)J if 6ICl~U;f):

\3'tf{ •• ~l m ~ 111'rn
-« ~ ~l ~ ~, ,~,' <n '
~ ~ ~ ~'o:r"lFt ~ ~'m
~~~~~~mmq~
~ ~fc6 ~ 8I!1jCf)'1 ~ ~fTlt
ti 'q'Jt{1{ "fti ~ I

3 Cueellation Or' Change in' Answer,: 3
It will·not be possible to change' the
marked bubble with black-ball-point
pen; therefore, correct answer should
be carefully chosen before marking iton' OMR Answer Sheet.

4 JlWhoyer ofOMRAnswerSheet 4
.( •••••• 2r:
(j) P!feueensure that-all entries in the

answer sheet are filled.up properly
i.e. Name, Roll No., Signatures,
Question' Booklet No. etc.

(ii) CANDID!TBS AREPERMlTIED
TO Caay AWAY THE
QUESTION BOOKLET WITH
THEM ~ AFTER THE
EXAMWt\TION.

5 cnii Hap4IiM *lie 9MR Ans.wer 5
S~t :
While using answer sheet adequate care
should be taken not to tear or spoil
due to folds' or wrinkles and the
impression goes not come behind the
Answer Sheet.
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